














A started with an investment of ` 28000. After 2 months, B joins with ` 20000 and after another two

months C joins with ` 18000. At the end of 10th month from start of the business, if B withdraws `

2000 and C withdraws ` 2000 what is the respective ratio in which profit should be distributed

among A, B and C at the end of the year? A ने ₹ 28000 के ननवेश के साथ शुरुआत की। 2 महीने के बाद, B ₹

20000 के साथ जुड़ता है और दो महीने बाद C ₹ 18000 के साथ जुड़ता है। व्यवसाय शुरू होने के 10वें महीने के अंत में,

यनद B ₹ 2000 ननकालता है और C Rs 2000 वापस लेता है। वर्ष के अंत में A, B और C के बीच नकस अनुपात में

लाभ नवतररत नकया जाना चानहए?

a) 12 : 7 : 5 (b) 12 : 9 : 5 (c) 12 : 6 : 3 (d) 14 : 7 : 5 (e) 11 : 9 : 7


































